

Aliana Events

08/21/2024 07:30 AM | Drive to Santa Barbara Installation of Chand 08/22/2024 09:00 AM | Installation day 2 - Draping and Bars - Bello 08/23/2024 09:00 AM | Installation Day 3 in Bellosgaurdo - Finish R 08/23/2024 09:00 AM | Installation Rehearsal Dinner Montecito Club 08/23/2024 11:59 PM | Strike Rehearsal Dinner Montecito 08/24/2024 09:00 AM | Day 4th Event day - Final Touch ups 08/24/2024 04:30 PM | Stand By Wedding day

08/24/2024 07:00 PM | Strike Cocktail Hour

08/25/2024 08:00 AM | Finish strike 08/26/2024 08:00 AM | Drive back to LA PO: Shipping Address: Bellosguardo Estate 1407 E Cabrillo Blvd, Santa Barbara, CA 93108 Invoice Date:
Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
Cocktail at Belo	sguardo				
	Custom Made Ottomans 4'x2'x 18'H With Custom Covers In Green with Smaller Back pillow Creating a back rest Details	4	\$455.00	Т	\$1,820.00
	Sofas - Toulouse - Love Seat 01 RE Upholster in Green with Natural wood 60"W x 31"L x 35"H	1	\$1,560.00	Т	\$1,560.00
- The state of the	Sofas - Toulouse - Love Seat 02 RE- Upholster in Green with Natural wood 45" x 34" x 36"	1	\$1,560.00	Т	\$1,560.00
TI TI	Club & Lounge Chairs - Toulouse - Club Chair 1 Re- Upholster in Green with NAtual wood 30"W x 28"L x 38"H	1	\$650.00	Т	\$650.00
	Club & Lounge Chairs - Toulouse - Club Chair 2 RE- Upholster in Green with Natural wood 30"W x 28"L x 36"H	1	\$650.00	Т	\$650.00
	Club & Lounge Chairs - Venice Arm Chair Gold Metallic Linen 4 Re- Upholster in Green with Natural Wood 32âN N ÂN X 32âN N ÂN X 49âN N ÂN H	2	\$650.00	Т	\$1,300.00
	Coffee Tables - Brussels - Gold Leaf 52"W x 22"L x 18"H	2	\$279.50	Т	\$559.00
	Mix and match Pillows Some Plain and some with Flower patterns	24	\$45.50	Т	\$1,092.00

Description		Qtty	Price		Total
*	Garden Props - Fountain - Four Tier 43" X 83" H	1	\$325.00	Т	\$325.00
	Custom Made Platform 6' x 6' x 12"H With Moulding and Smaller Details Painted in Green TBD	1	\$1,170.00	T	\$1,170.00
	Custom Made Smaller Platforms flanking Lounges 16"x16"x 16" For Florist to place Florals With Moulding details Painted in TBD	4	\$260.00	Т	\$1,040.00
	Sofas - Venice - Gold Metallic Linen 3 Re upholster in green wood Finish in natural (central Lounge 7'W x 33"L x 38"h	2	\$1,885.00	T	\$3,770.00
	Sofas - Venice - Gold Metallic Linen 4 RE- Upholster In green - Wood finish In natural (Central Lunge) 8'W x 33"L x 36"h	2	\$1,885.00	T	\$3,770.00
	Club & Lounge Chairs - Toulouse - Accent Chair re-Upholster in Green Natural wood (central Lounge) 29"W x 30"L x 37"H	2	\$650.00	Т	\$1,300.00
	Club & Lounge Chairs - Toulouse - Accent Chair 1 Re- Upholster in Green with Natural wood (Central Lounge) 28"W x34"L x 39"H	1	\$650.00	Т	\$650.00
Nilly I	Club & Lounge Chairs - Toulouse - Accent Chair 2 Re- Upholster in Green with Natural Wood (central lOunge) 28â W28â H	1	\$650.00	T	\$650.00
S	Club & Lounge Chairs - Venice Arm Chair Gold Metallic Linen 3 Re Upholster in green with nAtural wood (central Lounge) 32"W x 33"L x 44"H	4	\$650.00	Т	\$2,600.00
	Benches - Versailles - Carved Wood Re Upholster in Green w/ Natural Wood 71"W x 16"L x 21"H	4	\$325.00	T	\$1,300.00
	Coffee Tables - Bucharest - Brass & Mirror (3 max) 44.5"W x 24.75"D x 20.5"H	3	\$325.00	Т	\$975.00
	Coffee tables - Bucharest - Brass & Mirror	1	\$325.00	Т	\$325.00
	Custom Made 32' Long Bar 4-8' x 42'H Bars with Square Moulding Details	1	\$9,880.00	Т	\$9,880.00
	Custom Made 12' Bar 1-12'x 42" Bar with Square Moulding Details	1	\$2,860.00	Т	\$2,860.00
	Custom Buffet 8' Custom Buffet 8'x 36"H- With Square Moulding details and Decal Application in the front	10	\$2,470.00	Т	\$24,700.00
	Custom Made Barback 32'	1	\$4,550.00	Т	\$4,550.00

Description		Qtty	Price		Total
	Custom Made Barback 12'	1	\$1,560.00	Т	\$1,560.00
	Custom Made Pedestal For Entrance 4'x4'x5'H	1	\$1,170.00	Т	\$1,170.00
		Total Co	ocktail at Belosgua	rdo	\$71,786.00
Reception TEnt					
	Fabric To Cover outisde tent walls 3- 3-sided 310' x 14' feet In stock Fabric	1	\$7,254.00	Т	\$7,254.00
	FAbric In Velvet mustard yellow Color for a 100x 164 Structure tent x 14'H tent Legs With Valance this does not include Gable wall to the Pick	1	\$24,050.00	Т	\$24,050.00
	Table Lamps - Antique Brass Some to Be Colors - green - Mustard -Burgundy - Purple and Some to have printed Fabric	136	\$78.00	Т	\$10,608.00
	Custom Made Bar 32'	1	\$9,880.00	Т	\$9,880.00
	Custom Made Bar 16	2	\$4,940.00	Т	\$9,880.00
	Barback - Tokyo - Straight Basic 8' X 8'7"h - Metal In Gold 8'W x 18"L x 8'7"H - Frame Color Upon Request	8	\$370.50	Т	\$2,964.00
	stage Back Drop TBD To Create a star Burst Size and Fabric TBD	1	\$0.00	T	\$0.00
	Custom Made Chandeliers 60"H	20	\$5,850.00	Т	\$117,000.00
	Panels - Oval Window Frame With Prexy back ground glass 8'W x 14'2"H	18	\$3,250.00	Т	\$58,500.00
	Small Dining Tables - Paris - Bistro Table W/ Marble Top 24"Diam X 29"H	8	\$195.00	Т	\$1,560.00
•			Total Reception T	Ent	\$241,696.00
Chandelier Optic	ns:				
	Chandeliers - Lyon - Distressed White (4 max) 25" x 55"H - 18lbs - 150 Watts	4	\$520.00	Т	\$2,080.00
	Chandeliers - Lyon - Pommard Distress (4 max) 45"W x 55H" - 21lb - 250 Watts	4	\$520.00	Т	\$2,080.00
) Î	Chandeliers - Lyon- White (4 max) 25"W x 40"H - 14lbs - 150 Watts	4	\$520.00	T	\$2,080.00

Description	Qtty	Price	Total	
	Total (Total Chandelier Options :		
Services				
Trucking & Gas Sur Charge	10	\$750.00 T	\$7,500.00	
Drive to Santa Barbara And install Day 1	14	\$650.00	\$9,100.00	
Install day 2.	14	\$600.00	\$8,400.00	
Install Day 3 Bellosguardo	8	\$600.00	\$4,800.00	
Install for Welcome Night	6	\$600.00	\$3,600.00	
Strike Welcome Night Over Night	6	\$600.00	\$3,600.00	
install Day 4 event day final touch ups	6	\$500.00	\$3,000.00	
Stand by for event	2	\$500.00	\$1,000.00	
Strike team for Cocktails	6	\$500.00	\$3,000.00	
Strike team for tent	8	\$600.00	\$4,800.00	
Drive Back to LA On sunday	6	\$450.00	\$2,700.00	
Drive back to La Monday	8	\$450.00	\$3,600.00	
Smaller Trucks to Crosse Load	4	\$600.00	\$2,400.00	
Hotel Rooms Double Rooms - will change once Schedule is made	9	\$1,900.00	\$17,100.00	
per diems will be finalized once Schedule is made	16	\$444.00	\$7,104.00	
Manager on site - pre production	1	\$7,500.00	\$7,500.00	
Please make checks payable to Revelry, Inc.		Total Products:	\$319,722.00	
	Total L	Total Labor/Services/Misc:		
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Vear & Tear (6.00%):	\$16,902.52	
·		Packing (3.00%):	\$8,451.26	
Notes Please Note: Service Charges are subject to change until final		Taxes:	\$27,474.83	
confirmation.		Discounts:	(\$38,013.30)	
		Total:	\$423,741.31	
		Payments:	(\$0.00)	
		Balance:	\$423,741.31	